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PART -1

Computer Related P araelt
General Question HAHT I
1. What kind of Language can 1. FFepet foRe RT3l AT Sh1 EHEaT 22

Computer understand?

. A. FH HAHT 9T
A. Normal Machine Language

B. Computer Language B. S
C. Assembly Language C. wawelt s
D. High-level Language D. ER-aet |

2. Physical part of Computer is called 2. FFepet T e 0T e 8-
as-

A. HTHRRR
A. Software
B. Hardware B. &
C. C.P.U. C. ®Idi,
D. Processor D.

C A is computer programme, C P T 2, ST =1el TS
which searches intended information SIEE AR IR R DI ASICE AR B
from stored information on server. dad )

A. Web browser
A. I SIS
B. Website
B. deHTEe
C. Search engine
D. None of the above C. &%
D. SR § § IS T2
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Which one of the following is not an
Operating System?

A. Windows
DOS

O w

Google

©

Linux

-------- is called as father of
Compulter.

A. Charles Babbage

Bill Gates

C. Steve Jobs

W

D. None of the above

A list of coded instructions is known
as-

Flowchart

Algorithm

Computer Program

o o w >

Utility Program

Which of the following program
calculate numbers related to rows &
columns?

A. Window Program
B. Spreadsheet Program
C. Graphics Program
D. Word Program

07 O @ i w1 ST faeen e 22
A. foe=

B. ™

B. foet iicE
C. T ST
D. 3Tk H & Fis T

shifea frraeTt st greft 1 T hed 82
A. FAETE

B. uelitm

C. FF U™

D. gieferdt s

foRer g T ST U U9 hicd | Feitad
WﬁW@E(Calculate)W%‘?

A. faervom
B. Wi Y™
C. TTha ST
D. € I
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8. Which of the following is not the 8. fmrnu T d. . 3, 1w A 82
part of C.P.U.?

A. HURT
A. Memory
B. Control Unit (C.U.) B. % {ﬁ?(lﬁ,q\,)
C. Arithmetic & Logic Unit (ALU) C. fvermfes o Fifsreh FfHe (LT
D. Input Unit D. $T9¢ I
9. Which is not the type of input 9. & & I T feamsw T &2
device?
A. TI=H
A. Mouse
B. Printer B. Bzt
C. Camera C. 31
D. Keyboard D. Feie
10. what is the full form of ALU? 10. @3, T 9 A T 22
A. Analog Logic Unit A. TATETT Wi gfe
B. Arithmetic Logic Unit B quﬁz
C. Application Logic Unit . e~
C. TEAThIT ATISTeh J[HE
D. None of the above . ,
D. SRk T ¥ IS &
11. 1 kilobyte is equal to- 11. | fFeaemse SRR 2-
A. 1024 bytes A. 1024 922G
B. 1024 bits B. 1024%2}[
C. 1 Gigabyte
ind C. 17nmerge
D. All of the above
D. 3wk ot
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13.

14.

------ infects the Master Boot record
and it is challenging and complex
task to remove this virus.

A. Trojan

B. Polymorphic

C. Boot Sector Virus
D

. Multipartite

A software designed to help users to
perform specific tasks is known as-

A. Application Software
B. System Software

C. Utility Program

D. All of the above

Which output device is used to
translate information into a pictorial
form on the paper?

A. Punch Card
B. Touch Panel
C. Mouse
D

. Plotter

13.

14.

EARECIR

A. S

B. O

C. 2 HF IRRH

D. OcURCTES

IS AT Tl o6 foru forelt forfRre shrd
1 T o FoTT ST T W9 Rl el

STl &-

A. TR |
B. freeH Higed
C. Freferdt v

D. Wit g+t

HFFL H SRR 1 TS T FlTewsh
w9 H SIS M o I foh atraede
CCIES) (Output Device) T 39T fema
ST 82

A. T HE
B. U
C. 539

D. et
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15. The first generation Computer used 15, yom fiEt o1 FFAL - Tl 1eh 1

------ technology for processing. SURINT HETE o ToTT ST o
A. |.C. (Integrated Circuit) A. 3TE. €. (e Tlhe)
B. Microprocessor
P B. HTShINEER
C. Transistor )
C. gifeeX
D. Vacuum tubes
D. d%H g

16.  Which of the following is designed 16. 1 o & R L o ST i
to control the operations of forisToT SRt 6 foTT ST TR R
Computer?

A. System software A

B. Application software B. TlohRT Htear
C. Utility software C. Ffeferdt diearr
D. None of the above D. STk T ¥ IS &

17. Which of the following is not a type 17, ucfthe & MR W A= @ ST ar
of Computer on the basis of PRI T TR 8] &2
Application? A
A. Remote A
B. Analog B. Tl
C. Digital C. fefew
D. Hybrid D. TrEfse
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18. Which one is not a characteristic of 18. g0 @ M HFL S formivar el 82
the Computer?

A. i
A. Speed
B. Storage B.
C. Automation C. e
D. 1.Q. (Intelligence Quotient) D. 3%, 7, (fea few)

19. . help internet users to send and 19 , §ETTE STANTHATST hi ZIATHT
receive messages from around the Y T Ao 3T Y19 S § 7S hLdl 2l
world.

A URL A. I AT

B. W.W.W. B. SsciSocSoc
C. Website C. JeHTEe

D. E-mail D. -5

20.  What is the full form of C.D.? 20. &t o1 o AT R B2
A. Component Disc A. FHe feen
B. Computer Driver B. FFIT S
C. Compact Disc -

P C. e feth
D. Compact Driver 5
D. HaE gga
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Mathematics

21.  Find the area of the following
trapezoid.

3in

§5in

4in

A. 15.5square in
B. 16.5square in
C. 17.5square in

D. 18.5square in

22.

m. How many revolution will it
make in travelling 11 km?

A. 500
B. 1000
C. 1500

D. 2000

The radius of a circular wheel is 1%

PART - 11

21.

22.

T

Frrferfiad woers Sqys &1 &Eha I1a
shifer)

3in

§5in

4in

A. 1553
B. 16.5a g
C. 175909

D. 18.5= g9

T R Tt A1 Brsar 13 diet

11 T, Y I 5 I fohae =t
TR

A. 500
B. 1000
C. 1500

D. 2000

SPACE FOR ROUGH WORK / % &Td & fo1@ sre

20372-XNY-BQ-BHR-M1

53 Set A




23. The given figure shows a right- 23. & AT{d T wHenIv S ABC 3R

angled triangle ABC and an T gHaTE st BCD o1 @9Tid] 2]
equilateral triangle BCD. Find the SRR T T SR Hif
area of shaded portion. e o l
Given: (BC = 8.0 cm and AC = 16.0 feam TR &: (BC = 8 eft S AC = 16
cm) o)
A A
D D
B C B C
A. 36.3sg.cm A. 36.3 = ot
B. 52.0sg.cm B. 52.0 9 Ot
C. 27.7sg.cm C. 277t et
D. 55.4sg.cm
D. 55.4 o &t
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24.|f AB and CD are two chords of a 24. 3fg AB 3R CD T I 1 a1 Sfiamd & 57

circle intersecting at point E, as per o T o % 3R foie B w ufa=se
the given figure, Then: . D

A. /BEQ> /CEQ
A. /BEQ> /CEQ

B. /BEQ=/CEQ
B. /BEQ=/CEQ

. /BEQ< /CE
¢ Q Q C. /BEQ < /CEQ

D. eH @ wis off T

D. None of the above

25. |f the length of a diagonal of a cube 25 gfx forelt = 3 Foreol oy ofaTs 843 At

is 84/3cm, then its surface area is- 2, <1 SEhT JEI S BI-
A. 512cm? A. 512 Tfi2
B. 384cm? B. 384 Jfi2
C. 192cm? C. 192 g2
D. 768cm? D. 768 a2
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26.

27.

28.

The ratio of the present age of father
to that of son is 7:2. After 10 years
their ages will be in the ratio of 9:4.
The present age of the father is-

A. 35 years
B. 40 years
C. 30 years
D. 25 years

The sum of the length, breadth and
depth of a cuboid in 19 cm and its

diagonal is 55 cm. It’s surface area
Is-

A. 36lcm2
B. 125¢m?
C. 236cm?

D. 486cm?

The angles of a quadrilateral are in
the ratio 4:5:10:11. The angles of
quadrilateral will be-

A. 36° 60° 108°, 156°
B. 48°, 60°, 120°, 132°
C. 52° 60°, 122°, 126°
D. 60°, 60°, 120°, 120°

26.

27.

28.

O 3T IHT 371 3T 31 hl ST 1Y
¥ ST 7:2 8 10 TN T IAhT Y
9:4 3 ST H B T 26T AT 1Y
-

A. 3599
B. 409y
C. 30a%
D. 2599
e BT Sh1 SaTS, STeTs 31 e

AT 19 Tt 2, 3fI et fehof 545 o
21 T ST ST qET S ©-

A. 361 2
B. 125aw?
C. 236 @
D. 486 a+i?

@a@\{a%w4:5;10;11 %agqmﬁ
21 T =T % HI0T B

A. 36° 60°, 108°, 156°
B. 48°, 60°, 120°, 132°
C. 529 60°, 122°, 126°
D. 60°, 60°, 120°, 120°
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29. The number of lines that can pass 29.  fou T foig & TSR ATl wErst sh we

through a given point is/are- 2-
A. Two A A
B. One
B. T
C. Infinity '
C. 3d
D. Only one
D. Had T
30.  The earth takes 24 hours to rotate 30.  qeft T TOHT R TR A | 24 HE TG
about its own axis. Through what 21 98 4 9 12 fi=e o forg T @ =m?
angle will it turn in 4 hours and B
12 minutes? A. 63 feft
A. 63 degree B. 64 ferlt
B. 64 degree
C. 65fah
C. 65 degree
D. 70 fezit
D. 70 degree
31. If ABCD is a parallelogram, 31. gfg ABCD U G IqHS <,
AE 1 DC and CF LAD. If AE | DC 3t CF 1L AD)| Ife
AB = 10cm, AE = 6cm and AB = 10 4%, AE = 6 a9t 3

CF =5cm, then AD is equal to-
f CF = 5 9#ft, a1 AD sIIs -

A. 10cm
A. 10 9t
B. 6cm
B. 69!
C. 12cm
D. 15cm C. 129t
D. 1594
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32.

33.

34.

The cost price of 20 articles is the
same as the selling price of x
articles. If the profit is 25% then the
value of x is-

A. 15
B. 16
C. 18

D. 25

The average of 50 numbers is 38. If
two numbers namely 45 and 55 are
discarded, the average of the
remaining number is-

A. 325
B. 37.5
C. 35

D. 36

A company that manufactures cars is
preparing its profit and loss account,
under which heading will it include
production labour costs?

A. Cost of sales
B. Distribution costs

C. Interest payable and similar
charges

D. Administrative expenses

32.

33.

34.

20 &G 1 6 Hod x g3l 6 fosra
e o SITeR 8 Ffe AT 25% &, a1 x
AT 8-

15
16
18

o o w >

25

50 GEATST hT 3Ed 38 2l Il A
TEITSN AATT 45 3TN 55l DI faar
ST ol QY G131 7 3 2-

32.5
37.5

35

o o w »

36

AT GTAT TR & 2| 3EH R 3fiven
o I IcqTEH-HH AT IIMTHT I?
A. fhi & o

B. forawor arma

C. U =4S Ud 38T Yo

D. R
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35.

36.

The demographic dividend is-

A. Working population of 15 to 59
years

B. 0 to 6 years population

C. Working population of 14 to 50
years

D. Working population above 60
years

If the price of the commodity is
increased by 50%, by what fraction
must its consumption be reduced so
as to keep the same expenditure on
its consumption?

A 1
4

D. None of the above

35.

36.

A. 159 59 99 T 31 IHavid i
SEET

B. 0¥ 6 JY il SHEwAT

C. 149 50 9 T 311 i Frizficr
SHEET

D. 607 3t 3T & tferes refieT
SEEAT

Ffe T hl hImd H 50% hi gfeq hl
STt @ T SEehl @Ud h! Tohd=T SFH T
T dqTfeh Ik STHIT I THH o9 ST

w2

A.

S|

w
[N

D. 398 ¥ 1S T
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37.

38.

39.

The HCF and LCM of two numbers
are 24 and 168 and the numbers are
in the ratio 1:7. Find the greater of
two numbers.

A. 168
B. 144
C. 108
D. 72

A man had Rs. 16000, part of which
he lent at 4% and the rest at 5% per
annum simple interest. If the total
interest received was Rs. 700 in one
year, the money lent at 4% per
annum was-

A. Rs. 8000
B. Rs. 12000
C. Rs. 6000
D. Rs. 10000

A(8,-2) and B(4,6) are the end

points of a line segment. Find the
coordinates of the mid points of the
line segment.

A. (1,3)
B. (6,2)
C. (2,4)
D. (3,5)

37.

38.

39.

31 IS T HCF 3T LCM 24 3R
168 & SR H&ATE 1:7 % ST H 81 3
AT § S 96T gl

A. 168

B. 144
C. 108
D. 72

U =afth & I 16000 T3 o, fSreent
U T&0T 3T 4% T L A 3T arht i
5% SITYeh TTEROT STeT WX YW feam) e
T Y H TH el sATST 700 ¥ o, Al
4% e o =ht 2 & YT feam T o
fopamT o2

A. 8000 T
B. 12000 ¥9d
C. 6000 &9
D. 10000 ¥9J
A(8,—2) 3R B(4,6) T @ES &

3ifem feig 2, 1 W@reis o ae foig
EERIERIGEAIS I

A. (1,3)

B. (6,2)

C. (2,4)

D. (3,5)
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40.

41.

42.

Two trains of length 140 m and

100 m long are going on a parallel
track in same direction at a speed of
90 km/h and 18 km/h respectively.
What is the time taken for the trains
to cross each other completely?

A. 12 seconds
B. 13 seconds
C. 15 seconds
D

. 14 seconds

The number of triangles that can be
drawn having angles as 50°, 60° and
70° are-

A. Only one
B. Infinite

C. Two

D. None of these

In the given figure POQ is a line.
The value of x will be-

4x
40° 3x
<F=) o :Q>
A. 20°
B. 25°
C. 30°
D. 35°

40.

41.

42.

140 HieT 37T 100 HieT sl &1 ¢ ShuT:
90 ferei/erer 37T 18 ferf/sar Sy fa @
U & fosm & TmHiaT 3ok 9T ST & 2
g1 1 Toh GEL ol Ol oG8 | TR
foeHT TH Y

12 Gohugd
13 Gohugd
15 ThvgH
14 ThUgH

o o w »

50°, 60° S 70° o SHIVT aTed Bryyit ht
HEAT ST ST ST Hohd! B-

A. FIATH

B. 3fHd

C. &

D. T & s A

&1 778 TThfd H POQ ek 1@ 31 T x T
O BRTI-

4x
400 3Xx

A

20°
25°
30°
35°

oo w >
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43. The dimension of the floor of a 43. ue A T HHE 4 7 x 3H IR

rectangle hall is 4m x 3m. The floor F3 9T § T x 6 T, o Tecd SR Al
of the hall is to be tiled fully with E—. fope 2éem
8cm x 6cm rectangular tiles without S w
breaking tiles to a smaller size. How STZHAT T2
many tiles are required?
A. 1900
A. 1900
B. 2500
B. 2500
C. 3300
C. 3300
D. 576
D. 576
44. Base Areaofa cylinder is 21cm? A 3 3 TR 7 et 21 T2 T
and height is 11 cm. The volume of &8 11 9.1 2 a9 et T 3
the cylinder is ----- L C1——
A 2310m’ A 231 a3
8- 230cm”’ B. 230 &3
C- 220cm® C. 20@H3
D- 225¢m* D. 205 &3
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45. A, B and C start at the same time in

the same direction to run around a
circular stadium. A completes a
round in 252 seconds, B in 308
seconds and C in 198 seconds, all
starting at the same time. After what
time will they meet again at the
starting point?

A. 15 minutes 15 seconds
B. 42 minutes 30 seconds
C. 42 minutes
D

. 46 minutes 12 seconds

A, B 3R C T & aug § o &1 foem
Tk AT € fEam o =i ST ST Y%
A B A T IR 252 HohUey 1, B
308 HehUSH H I C 198 Hehved H G
AT & T T & 99 T 3 &I B
feper Tt a1 of Oht & STt foig o
foren?

A. 15 fime 15 Gehvgm
B. 42 fiTe 30 HervgH
C. 42Tz

D. 46 fHTed 12 HervgH
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General Knowledge

46. The Brahmaputra basin spreads
across

a)
b)

c)

A.

47.

India and China
India and Pakistan
Bangladesh

Only A is correct

B. A and C are correct
C.
D

. Only B is correct

A and B are correct

Language “Baigani” belongs to

which tribe?

A. Baiga

™

C.
D.

48.

Gond
Bhatra

None of the above

Which factor has been led India’s

economic growth in FY 23?

A. Private Consumption

O O w

Public Consumption
Private Investment

Public Investment

PART - 111

46.

47.

48.

HTHT S

SRR SIfe ot foram 2-
) YR A AT

) WRA A iR |
") AR H

A. FaA FATER

B. JAARTTER

C. AIMATR

D. FaAT TR B

ST R STTTTT <t T 22
A. s

B. Tig

C. wau

D. STk H & 1S Tk

forefar Y 2023 % AT o AT feq i

forer aw  SerIT 2
A. Tt 3T
B. HTeSIa ITH
C. s femr
D. dresifa fasT
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49.

50.

51.

Which award is given to the players
of Senior category in the state, who
have performed excellent in the field
of sports at international/national
level?

A. Shahid Pankaj Vikram Award
B. Shahid Kaushal Yadav Award
C. Shahid Rajeev Pandey Award
D. Shahid Gundadhur Award

The Greater Himalayas or Himadri
range, which extends from west to
east, reaches its greatest height
inside Nepal, among the world’s 14
highest peaks how many peaks are
located their?

A 8
B. 12
C. 11
D. 9

By the Government of India Act
1935-

A. Press Ban lifted

B. Territorial autonomy
implemented

C. Foreign trade liberalized

D. Women were given the right to
vote

50.

ol.

ST 1 9ty 2ol 3 faare), e g
% & H TR / TR T W 3ehy
Exi [T 8, 378 -6 qhR faa

ST &7

A. TTEIE YehsT foshd GV T
B. IEIE HITe ATed G
C. RIE TS ey a7

D. EIE TUSTER §HIH

T2 ¥ IS T hell ged [eHTer A
femTet oft Jurer 7 rfereRan =TS 9%
aged §, STt ford T 14 Herd et
ST /9 forat =net feerg 87

A 8
B. 12
C. 11
D. 9

WRA SMTE STRITE 1935 510-

A. 9 W Y ey gerEr /=

B. STafRTeh TamIerdt <A1 i it

C. faasft = 1 IarieRtor foram
D. AfEaTsti st warferrR faam
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52.  Veer Hanuman Sing Award is given 52.

by the Government of Chhattisgarh
in the field of sports.

A. To judges
B. To coaches

C. To the outstanding players of the
senior category

D. To the best players of the junior
category

53.  Translation of “Hum Log Ja Rahey 53.

Hai” in Chhattisgarhi will be-
A. Haman Jat Han

B. Mai Jat Hoo

C. Vo Man Jat hai

D. Sab Jhan Jat Hai

54. Which of the following crops are 54.

grown mostly under subsistence
farming?

A. Cotton and tobacco
B. Millets and Rice
C. Vegetables and Fruits

D. Tea and Coffee

BTG TN FN Tl o & § AT
RSRIEAR R A CERE RIS IR

A. ot =t
B. S¥TeTh
C. Hifier o o ey faanfest
D. SRR =t % ey Raenfeat

T AN ST R & 1 S aTe] &9 T
B2

A. B ST &
B. §Sagl
C. TS

D. G938

(l'\(\

feferfad & @ 9 o S8 ST

frate ©dl % dgd 3 St 22

A. AT IR TR
B. SSRT AR =&
C. dfosal 3R e
D. =T SR A
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55.  Which of the disease pair is related
to the deficiency of vitamines?

A. Colour blindness, Haemophilia
B. Malaria, Influenza

C. Aids, Chickenpox
D

. Rickets, Beriberi

56.  Who was the father of ‘the policy of
effective indolence’?

A. Elanbera
B. Lawrence
C. Mayo
D

. Litton

57.  Chhattisgarh’s budding player
Ms. Dnyaneshwari Yadav won gold
medal in Khelo India Inter
University Sports Competition 2023
held at Lucknow, Uttar Pradesh from
23 May to 03 June 2023. She is
associated with which sport?

A. Bodybuilding
B. Weightlifting
C. Power lifting
D

. Wushu

55.

S7.

frreAifend o & st @ T g forerefiar ot
el & Tl B-

A. ST, ST
B. Wi, SIS
C. TgH, W=k

D. fehred, s-alt

“TqTST STeRHIAT <hY el T STk i
77

A. TAETST
B. @i
C.

D. fored

SiteTg it S el e aea
423 W5 ¥ 03 S 2023 o ITTIAT
TGS H AN Tl §Tear 3T
fergforerery @ershe wiaiiar 2023 #
ol geeh Sftan 3 forer @t & i 82

A. IR EIsT
B. 9RIIeH
C. grer fafwem

D. X1

DN
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58.

59.

60.

History of Chhattisgarhi Literature is
divided in to how many parts?

A. Two
B. Four
C. Three

D. None of the above

Name the woman player who
participated in the Olympics as a
member of the Indian women’s
hockey team from Chhattisgarh-
A. Renuka Yadav

B. Radhika Yadav

C. Pushpalata Tirkey

D. Anju Lakra

Infant Mortality Rate is indicator of
which status of Human being?
A. Education

B. Health

C. Malnutrition

D. Living standard

58.

59.

60.

STl Gifecd w1 sfaer ferd W |
farvren foram T 22

A &

B. IR

C. =

D. ST & § 1S et

HfAfoR o Wt afeer Ereht 3
T o §Y H W T It STee shi
Afga Raare! &1 1 2-

A. YU AR

B. Tl ated

C. qedear faet

D. 3 T

q o foper Reerfer shr e=ren R Ay =X
R?

A. Rrem
B. @reed
C. Fuor

D. Sfa&T
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61.

62.

63.

Who among the following is the first 61.

dramatist of Chhattisgarh?
A. Mukutdhar Pandey
B. Banshidhar Pandey
C. Shivshankar Shukla
D. Lochan Prasad Pandey

Whose creation is Chhattisgarhi 62.

novel “Mongara” is-
A. Khoobchand Baghel
B. Sunderlal Sharma
C. Shivshankar Shukla

D. None of the above

Consider on the following- 63.

(i) Advocate General may be
included as a member of a
committee of State Legislative
Assembly.

(i1) Advocate General may not be
included as a member of a
committee of State Legislative
Committee.

Choose right answer-

A. (i) is correct

B. (ii) is correct

C. (i) and (ii) both are correct

D. (i) and (ii) both are wrong

TG o o ATCIHN 370 H shi &7
HFeR q1Uey

siefe ey

R 3t

SICERPEICR IR

o o w >

SRS ST “HIRT” FoReehl T &2
A. GIEE THA

B. Hetaret st

C. Rrasier &t

D. S # & iE T

frefaRad W forem shifse-

(i) weTferamhT st U= forema Y
gfufd o e & &9 ° aftaferd femm
ST Hehal 2l

(ii) HETIrahT st T e shr
giufd  gee & &9 o ftaferd T8
IERIESIRETI

wEl I -

A. () T& e
B. (i) &dr?
C. (i) 3 (ii) ST & &
D. (i) 3 (ii) 41 7Terq &

SPACE FOR ROUGH WORK / % &Td & fo1@ sre

20372-XNY-BQ-BHR-M1 25

53 Set A




64.

65.

66.

Which sector has highest
contribution in GVA of India in the
year 2021-22?

A. Agriculture & Allied sector
B. Industry
C. Services

D. Manufacturing

In past some years large reserves
have been found in Tummalapalle
and Bhima river valley in Karnataka-

A. Petroleum
B. Thorium
C. Uranium
D

. Chromium

What will be the Hindi word
“Anuman” in Chhattisgarhi?

A. Alkar
B. Atkarna
C. Utkaha

D. Belbelha

64.

65.

66.

a9 2021-22 H A % Hehel Hed T€
(GVA) U forar &5 a1 e e anree
@187

A. TN T gETes &
B. &M

C. @&

D. fafamior

TSt e I H Fieeh o qrieTaed 3R
T 7t Bt | g foge WeR WSl
-

A. iferad
B. ifed
C. qwm
D. iR

et ¥Tog “FHTHI” T BUAETG! TTog
S

A. 3Rt
B. 33l

C. 3Zhal

D. ScisicTal

SPACE FOR ROUGH WORK / % &Td & fo1@ sre

20372-XNY-BQ-BHR-M1

26

53 Set A




67.

68.

69.

70.

Who was directly related with the
‘Poona Pact of 1932°?

A. Indian women

B. Indian working class
C. Indian farming class
D

. Indian depressed classes

Translation of Hindi word
“SAKRIYA” is-

A. Budharu
B. Pathoia
C. Pichlaggoo
D. Jugharu

How is Indian Economy at present?
A. Higher growing economy

B. Fastest growing economy

C. Ordinary growing economy

D

. None of these

Which of the following was the first
event?

A. Chaura Chauri Scandal
B. Kakori Scandal

C. Bardoli Satyagraha
D. Rowlatt Satyagraha

67.

68.

69.

70.

“1932 % AT ST o AT ferersht HiTer
SERID IV

A. T Afger
B. W Astgt o
C. AT ek i
D. W aferd art

et w1 aforar o1 BAETET TTATE B-
A. TITE

B. wergal

C. fumem

D. &

AT | T Teferareer et 22
A. ITEE Y Sed! AdaE

B. dist 7Tf & sedt srefeereen
C. 9= Tfd ¥ sl Tefouaeen
D. ST & g T

fFrefaTRad & & ygelt st s | oft?
A. =T — <R 0

B. e HUE

C. SEI! HeamE

D. Ucie Tcag
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PART - IV
Physical Education i forer

71. The weight of the cricket ball ranges 71, forehe § 7ig o o1 sl €T ---- BT 2
from-
A. 155909 ¥ 163 78
A. 155.9 gram to 163 gram

B. 155.9 gram to 162 gram B. 155.9 7T & 162 7

C. 155.8 gram to 161.9 gram C. 1558 ¥ 161.9 7
D. 160 gram to 163 gram D. 160 T ¥ 163 T
72. Which is the smallest bone in the 72, gd TR T G BT T i H 27
human body?
A. fafer
A. Pisiform
B. Scaphoid B. 5
C. Stapes C. wfw
D. Malleus D. Aferea
73. The Inverted-U theory was [ R— A Frace- feata &1 widures
propounded by----- famam

A. Yerkes and Dodson

A. JHE qUT SISHH

B. Yerkes and Robertson

B. o€ qoT (eIdeH
C. Johnson and Dodson

C. S dT SISe
D. Adler and Dodson

D. TS dYT SisdH
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74.

75.

76.

Which one of these four is not an 74.

internationally recognised track
event?

A. 100m hurdles for men
B. 200m sprint for men and women

C. 4x400m Relay for men and
women

D. 200m hurdles for men and
women

In 3000 meter steeple chase, the 75.

number of water jumps are-

A 6

Which is the following part of 76.

human skeleton forms the helmet for
the protection of human brain?

A. Cranium
B. Temporal bone
C. Hyoid

D. Mandible

I =R H 8 3 T A §9 9
1= 3ok Tt a1 87

A. TEST T 100 HieX gEd
B. T%Y TS HiZAAT T 200 Hiet S5

C. 759 UE Afeaail it 4x 400 Hiex
feat

D. &Y Ug Hfgamai i 200 Hiet aSed

3000 HIeT T T | ----- AT H 12T
S Eid 2

A. 6

B. 7

C. 8

D. 9

T hehTeT ohT fFToTRad | & hi9 T
VT TS AT 31 EETT o fTg gere
SHTAT 27

A. HaTA

B. &4l il gl
C. it ey

D. Sder
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77. Which one of the given option is the 77. {3 o foeredt ® @ 9 97 faerfom — <

best source of Vitamin D? T GIY 37537 &g 22
A. Sunlight A. T
B. Orange .
J B. @
C. Walnut
C. 3T
D. Apple
D. 99
/8. Sports psychology----- 78. G A ---- B
A. Analyses the behaviour of athlete A. Raerfedt & sTagr &1 3iche™
B. ldentify talent for specific sports B. frdt Rty @t 3 yfsme £ Gt

C. Helps to handle pressure L~
C. qd Yeie | Heg

D. All the above
D. 39Uk g+t

79. In which activity lactic acid system 19.  Qferes uftre foreen fopa wifafaeft & afshar

activated? BIdT 87
A. 800 mts. run A. 800 Hiegdre
B. 10,000 mts. run
B. 10,000 Hiex A
C. 100 mts. run
C. 100 W dre
D. 20 km walk
D. 20 fr . e I

SPACE FOR ROUGH WORK / % &Td & fo1@ sre

20372-XNY-BQ-BHR-M1 30 53 Set A




80. The diameter of the throwing circle 80.  =rerehT theh o fotar VST HeheT ohT ST ----

for discus throw is- T 2l
A. 2.50 meter A, 2.50 HieX
B. 2.51 meter
B. 2.51 #iX
C. 2.52 meter
C. 2.52H&
D. 2.53 meter
D. 2.53 HiX
8l ... phases are there in complete 81. vl o THERR HTEA H - =T B
Surya Namaskar Asana. 2l
A. 8 A 8
B. 10 B. 10
c 11 C. 11
D. 12 D 12
82. \What is the stagger for first Runner 82. 200 ™iex g T Yeet i o Ue eTah
in first lane for 200 meter sprints? T T HIT 2IdT 27
A. 00 A. 00
B. 7.04 B. 7.04
C. 352 C. 352
D. 7.67 D. 7.67
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83.  Which the following is a test for
flexibility and balance?

84.

85.

A

B.

Ruler drop test
T-drill test
RAST

Sit and reach test

What is the angle at which the

throwing sector in discus throw is

marked?

A.

B.

C.

D.

34.92°

35°

33°

38°

The baton exchange zone in
4x100mrelay is ----- meter.

A

B.

C.

D.

10 meter

15 meter

20 meter

25 meter

83.

84.

85.

frefafad # @ S 91 F=iam 3R
e o fore TEoT 82

A. TR L
B. &I-SiaT wlieqor
C. Jruugd.

D. fewefmiw

forer SRIOT UX <rerehT theh | TSIT Tl ohl
FifoRd ToRaT STTaT 87

A. 34.92°

B. 35°

C. 33°

D. 38°

4x100 Ht it ¥ e o ATHE-ISH ST

A. 10T
B. 15#eT
C. 20 HX

D. 25 HieT
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86.

87.

88.

Pranayama is which part
(in sequence) of Ashtanga Yoga?

A. First
B. Third
C. Sixth

D. None of these

International yoga day is celebrated
on---

A. 20 June
B. 21 June
C. 22 June

D. 23 June

Which is these is not a common
sports injuries?

A. Dislocation
B. Sprain
C. Abrasion

D. Asthma

86.

87.

88.

STOTRITH ST AT T (SFATTAR) hi T
T 87

A. T&c

B. de

D. 235F

ETH ShIF T Tk W O 91E T8 22
A. SRt

B. a4

C. =N

D. sH1
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89.  Trial and error theory of learning 89. i o oW wd e freata r wre

was propounded by- ERC
A. Skinner A fip
B. Eysenck 5 55
C. Allport 5

C. At
D. Thorndike

D. 9MeEH

90.  When was school games federation 90.  wopet TIVe TR STt STEAT T T ol

of India formed? T UT?
B. 1954 B. 1954
C. 1955 C. 1955

91.  The most important function of first O1.  fopeft gelertT o foru serfires Ferferca s
aider for a causality is- gad @yl  2-

A. Taking the casualty to the doctor A. I hT STFT % U of ST

B. Treating the casualty

B. "M T YA
C. Save the life using the means

available C. 39cTse AL 3T ITANT L Sita
_ _ ST
D. Arranging the transportation to
carry the casualty to the hospital D. =TIt F STETdT o S ¥ frw
qiEeH hl SaEAT AT
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92. Test used to measure 92. gey-9E HdT Sl qY % foTw ST

cardiorespiratory endurance is- forar ST STt aeqor 27
A. Tread mill test A. Tefirer wieo
B. Dynamometer
y B. ST
C. Peak flow meter test
C. ek el Hiet qdtequr
D. Cyber
D. |I$sR

93. The area of goalkeeper in handball is 93.  Zesiter H MAHIIT T & ~-nmmv X

---- meter line. TS BT
A. 9 A 9
B. 7 B 7
C. 4 C 4
D. 6 D. 6
94.  Motor memory is a part of ----- 94. rnwmﬁr ------ ST Teh {7 2
A. Cognitive process A. HHETH Tisha
B. Motor process B. T yfEaT
C. Psychomotor process -
C. HARH JishAl
D. All the above
D. 39Uk g+t
95. Physical Education Teacher now-a- 95.  wriifien fRrer firereh STTsieher 1T &0
days in essentially- ge-
A. An Instructor A @Hﬁr&w
B. A Movement Educator )
B. U 3icieH f3reren
C. A Drill Master s
C. AL
D. All of the above s
D. 39Uk g+t
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96.

97.

98.

The degree of consistency with 96.

which a measuring device may be
applied is ascertained through-

A. Validity

B. Reliability

C. Both the above
D

. None of the above

Which is the following tests is used 97.

to measure “Reaction Time”?
A. Ruler drop test

B. SCAT

C. JCR Test

D. 5 km predictor test

Surplus energy theory of play given 98.

by-

A. Schiller

B. Spencer

C. BothAandB

D. Lazarus

g1 37 fexft it feerar forees e wer
IR SHT T8 © HT9AT § S 8 SR q9H
ferrt o wmer 3ot fRearfa o Swer foa
ST 2-

A. e

B. fergaftaran

C. SWIh Al

D. IRk H & I8 T

“TfeTshiaIT T ol HTYH o 7T
freafafaa 8 9 fora gdieor st 3w
TR STTaT 27

A. TR L

B. taH.gdl

C. SH.IR &

D. 5 formt et e

O ATk Solt ol Ieid —----- Ej
fe=m

A. fIrer
B. T
C. ST ATATB

D. oS
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99.  Volleyball court is surrounded by 99.  gicfisiet hid TRT R Y e et

free zone of ------ meter wide on all ST oy ST 2
sides.
A1 A 1l
B 2 B. 2
c 3 C. 3
D. 4 D. 4
100. What is Human Anatomy? 100.  orre SR Toett T 22
A. Human anatomy is the study of A. THE I AT IS 30 6

the functions of body part. T TSI 2|

B. Human Anatomy is the study of
the structure of the human body. B.

99 IR AT 399 IR Al 9= T

o1 T B
C. Human anatomy is the study of

bacteria and viruses. C. 9T IR AT ST 3T 9
T T B

D. A YT TET 7E I F T 37

3ok SHITUTT ohT TSI 2

D. Human anatomy is the study of
disease and its causes.
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IR Thd T /T ; 2 Ee

Time for making answers : 2 Hours

e

1. 38T qikaest & e swr g -
EREE FATA | 3h
1. | TP AFEt AT 9 20 20
2. | o 25 25
3. | wmrE A 25 25
4. | vt forem 30 30

TR T 1 3Tk T & | Oeft Ty Tty e 2

LA S
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T4t o IR, &1 T8 OMR I (SATEeiie) W sifera i |
TTerd ST Sifehd A UR 1/4 37k T SRR |
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OMR ITUIIT (ITTATINE) T TANT hld THT THT I3 AATTUATHT T hy/ad ad 98 e A9 v

IOH g a1 firerare onfe ug 9 ek wertasu a8 TUa ST 9 |

Note :
1. This question paper consists of following parts namely :-
Sr.No. | Particular Total Question | Marks
1. Computer Related General Question 20 20
2. Mathematics 25 25
3. General Knowledge 25 25
4. Physical Education 30 30

Each question carries 1 mark. All questions are compulsory.
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